



ELSEVIER

Linear Algebra and its Applications 320 (2000) 167–171

LINEAR ALGEBRA
AND ITS
APPLICATIONS

www.elsevier.com/locate/laa

Proof of a conjecture of Fiedler and Markham[☆]

Xuerong Yong¹

Department of Mathematics, Xinjiang University, Urumqi 830046, People's Republic of China

Received 28 February 1999; accepted 22 June 2000

Submitted by R.A. Brualdi

Abstract

Let A be an $n \times n$ nonsingular M-matrix. For the Hadamard product $A \circ A^{-1}$, M. Fiedler and T.L. Markham conjectured in [Linear Algebra Appl. 101 (1988) 1] that $q(A \circ A^{-1}) \geq 2/n$, where $q(A \circ A^{-1})$ is the smallest eigenvalue (in modulus) of $A \circ A^{-1}$. We considered this conjecture in [Linear Algebra Appl. 288 (1999) 259] having observed an incorrect proof in [Linear Algebra Appl. 144 (1991) 171] and obtained that $q(A \circ A^{-1}) \geq (2/n)(n-1)/n$. The present paper gives a proof for this conjecture. © 2000 Elsevier Science Inc. All rights reserved.

Keywords: M-matrix; Eigenvalues; Hadamard product; Stochastic matrix

1. Introduction

For notations and definitions not defined here we refer to [1,2].

All M-matrices considered here will be nonsingular M-matrices. For an M-matrix A , the Hadamard product $A \circ A^{-1}$ is again an M-matrix [4]. Fiedler and Markham proved [1] that $q(A \circ A^{-1}) \geq 1/n$, and proposed the following conjecture:

$$q(A \circ A^{-1}) \geq 2/n,$$

where $q(A \circ A^{-1})$ is the smallest eigenvalue (in modulus) of $A \circ A^{-1}$. We considered this conjecture [2] having observed an incorrect proof [3] and obtained that

[☆] Research supported in part by XJEC grant of China, RGC CERG grant 652/95E of Hong Kong and DIMACS.

E-mail address: xryong@cs.ust.hk (X. Yong).

¹ Present address: Department of Computer Science, Hong Kong University of Science and Technology, Clear Water Bay, Kowloon, Hong Kong.

$q(A \circ A^{-1}) > (2/n)(n - 1)/n$. The present paper is intended to prove this conjecture.

About the conjecture, I would like to point out that it is also stated in Horn and Johnson’s book [6, p. 375]. The correct proof was, actually, given by the author in 1996 and the extended abstract is seen in [7].

Let t denote the transpose of a matrix or a vector.

2. Proof of the conjecture

The following lemma is Lemma 2.1 in [2].

Lemma 1. *Let $A = (a_{ij})$ be a strictly diagonally dominant matrix by row and column, i.e.,*

$$|a_{ii}| > \sum_{j \neq i} |a_{ij}|, \quad |a_{ii}| > \sum_{j \neq i} |a_{ji}|$$

for all i . Then for $A^{-1} = (b_{ij})$, we have:

(a) $|b_{ji}| \leq \frac{\sum_{t \neq j} |a_{jt}|}{|a_{jj}|} |b_{ii}|,$

(b) $|b_{ij}| \leq \frac{\sum_{t \neq j} |a_{jt}|}{|a_{jj}|} |b_{ii}|.$

Lemma 2. *Let $A = (a_{ij})$ be an $n \times n$ irreducible M-matrix, and*

$$a_{ii} = \sum_{j \neq i} |a_{ij}| + 1 = \sum_{j \neq i} |a_{ji}| + 1, \quad i = 1, 2, \dots, n.$$

Let A_{ii} be the cofactor matrix of a_{ii} . Then

$$a_{ii} - \alpha_i^t A_{ii}^{-1} \beta_i \leq n - \frac{n - 1}{a_{ii}}, \quad i = 1, 2, \dots, n,$$

where

$$\alpha_i^t = (a_{i1}, \dots, a_{ii-1}, a_{ii+1}, \dots, a_{in}),$$

$$\beta_i = (a_{1i}, \dots, a_{i-1i}, a_{i+1i}, \dots, a_{ni})^t.$$

Proof. We need only prove the claims for $i = 1$. The rest follows similarly. From the hypotheses, we have

$$A = \begin{pmatrix} a_{11} & \alpha_1^t \\ \beta_1 & A_{11} \end{pmatrix}.$$

and $\alpha_1^t = e_{n-1}^t (I - A_{11})$, $\beta_1 = (I - A_{11})e_{n-1}$, where e_{n-1} is the $n - 1$ dimensional vector of 1’s. Then

$$\begin{aligned} \alpha_1^t A_{11}^{-1} \beta_1 &= e_{n-1}^t (I - A_{11}) A_{11}^{-1} (I - A_{11}) e_{n-1} \\ &= e_{n-1}^t A_{11} e_{n-1} + e_{n-1}^t A_{11}^{-1} e_{n-1} - 2(n - 1). \end{aligned} \tag{1}$$

From [5], A_{11} is again an M-matrix. So $A_{11}^{-1}e_{n-1} = y = (y_2, \dots, y_n)^t > 0$. Let $y_i = \min y_j$. Then, since $e_{n-1} = A_{11}y$, we have

$$\begin{aligned} 1 &= a_{ii}y_i - \sum_{j \neq i, j \geq 2} |a_{ij}| y_j \\ &\leq \left(a_{ii} - \sum_{j \neq i, j \geq 2} |a_{ij}| \right) y_i \\ &\leq (1 + \max_{2 \leq j \leq n} |a_{j1}|) y_i. \end{aligned}$$

This yields

$$\begin{aligned} e_{n-1}A_{11}^{-1}e_{n-1} &\geq \frac{e_{n-1}^t e_{n-1}}{1 + \max_{2 \leq j \leq n} |a_{j1}|} \\ &= \frac{n-1}{1 + \max_{2 \leq j \leq n} |a_{j1}|}. \end{aligned}$$

Now,

$$\begin{aligned} e_{n-1}^t A_{11} e_{n-1} &= n-1 + \sum_{j=2} |a_{j1}|, \\ a_{11} &= 1 + \sum_{j=2} |a_{j1}| \geq 1 + \max_{2 \leq j \leq n} |a_{j1}|. \end{aligned}$$

So from (1), it leads to

$$a_{11} - \alpha_1^t A_{11}^{-1} \beta_1 \leq n - \frac{n-1}{a_{11}}.$$

The proof is completed. \square

We now turn to prove the conjecture.

Theorem 3. Let $A = (a_{ij})$ be an $n \times n$ M-matrix. Then

$$q(A \circ A^{-1}) \geq \frac{2}{n}, \quad n \geq 2,$$

where $q(A \circ A^{-1})$ is the smallest eigenvalue (in modulus) of $A \circ A^{-1}$.

Proof. From [1] or Theorem 3.2 in [2], we may assume that A^{-1} is a doubly stochastic matrix, and $A^{-1} = B = (b_{ij}) > 0$. Then A is irreducible, and we have

$$a_{ii} > 1, \tag{2}$$

$$a_{ii} = \sum_{j \neq i} |a_{ij}| + 1 = \sum_{j \neq i} |a_{ji}| + 1 \quad \text{for all } i. \tag{3}$$

For the positive vector

$$z = \left(\frac{a_{11}}{a_{11} - 1}, \frac{a_{22}}{a_{22} - 1}, \dots, \frac{a_{nn}}{a_{nn} - 1} \right)^T,$$

let f_i be the i th component of the vector $z^T(A \circ A^{-1})$. Then by Lemma 2

$$\begin{aligned} f_i &= a_{ii} b_{ii} \frac{a_{ii}}{a_{ii} - 1} - \sum_{j \neq i} |a_{ji}| b_{ji} \frac{a_{jj}}{a_{jj} - 1} \\ &\geq a_{ii} b_{ii} \frac{a_{ii}}{a_{ii} - 1} - \sum_{j \neq i} |a_{ji}| \frac{a_{jj} - 1}{a_{jj}} b_{ii} \frac{a_{jj}}{a_{jj} - 1} \\ &= b_{ii} \left(a_{ii} - \frac{(a_{ii} - 1)^2}{a_{ii}} \right) \frac{a_{ii}}{a_{ii} - 1} \\ &= b_{ii} \left(2 - \frac{1}{a_{ii}} \right) \frac{a_{ii}}{a_{ii} - 1}. \end{aligned}$$

On the other hand,

$$b_{ii} = \frac{\det A_{ii}}{\det A} = \frac{1}{a_{ii} - \alpha_i^t A_{ii}^{-1} \beta_i}.$$

So from Lemma 2, we have

$$b_{ii} \geq \frac{1}{n - (n - 1)/a_{ii}} \quad \text{for all } i.$$

Noting (2), this gives rise to

$$\begin{aligned} f_i &\geq b_{ii} \left(2 - \frac{1}{a_{ii}} \right) \frac{a_{ii}}{a_{ii} - 1} \\ &\geq \frac{2 - (1/a_{ii})}{n - ((n - 1)/a_{ii})} \frac{a_{ii}}{a_{ii} - 1} \\ &\geq \frac{2}{n} \frac{a_{ii}}{a_{ii} - 1}. \end{aligned}$$

This implies that

$$z^t(A \circ A^{-1}) \geq \frac{2}{n} z^t,$$

which gives the following:

$$q(A \circ A^{-1}) \geq \frac{2}{n}.$$

The proof of the conjecture is then completed. \square

Remark. The lower bound of the conjecture is best possible. See the example in [1] or [6, p. 374].

Acknowledgement

I would like to thank the anonymous referee for giving valuable suggestions and pointing out some errors in the original version of the paper.

References

- [1] M. Fiedler, T.L. Markham, An inequality for the Hadamard product of an M-matrix and inverse M-matrix, *Linear Algebra Appl.* 101 (1988) 1–8.
- [2] Xuerong Yong, Zheng Wang, On a conjecture of Fiedler and Markham, *Linear Algebra Appl.* 288 (1999) 259–267.
- [3] Li Ching, Chen Ji-cheng, On a bound for the Hadamard product of an M-matrix and its inverse, *Linear Algebra Appl.* 144 (1991) 171–178.
- [4] C.R. Johnson, A Hadamard product involving M-matrices, *Linear and Multilinear Algebra* 4 (1977) 261–264.
- [5] A. Berman, R.J. Plemmons, *Nonnegative Matrices in the Mathematical Sciences*, Academic Press, New York, 1979.
- [6] R.A. Horn, C.R. Johnson, *Topics in Matrix Analysis*, Cambridge University Press, Cambridge, MA, 1991.
- [7] Xuerong Yong, Positive answer to a conjecture of Fiedler and Markham, in: *Proceedings of China Second Annual Meeting of Linear Algebra with Applications*, Jilin University Press, 1996.